1. According to the text, the main reason why high school

football players suffer from concussions more than
college players is because ...

a. college players often report injuries.

b. high school players don't prefer to stop playing when
they are injured.

c. high school players never report injuries.
d. they are playing under more difficult conditions.

. Berto Garcia first came up with the idea of his invention

a. when he figured out that some animals have
stabilizer muscles.

b. after he got injured and learned that he wouldn't be
able to play again.
c. when he started high school.

d. when he realized that certain animals hit their heads
without feeling pain.

. Why did Berto Garcia choose to work on animals such as

rams?

a. Because, thanks to stabilizer muscles, they
experience less damage when they hit their head.

b. Because they have as many concussions as humans
do.

c. Because they experience more damage compared to
humans.

d. Because they experience as much pain as humans
do.

4. Accordingtothe text, .. ... ;

a. Garcia's science teacher was not surprised at Garcia’s
SUCCess.

b. it was an unexpected success as Garcia was only a
high school student.

c. Garcia carefully planned the whole path he would
take before he started the project.

d. Garcia’s science teacher came up with the idea of
the helmet Garcia developed.

5. Which of these is not true according to the text?

a. Garcialearned howto programmethe microcontroller
on his own.

b. Stabilizer muscles aren’t found in human beings.

€. There is no safety test that can be applied to test
football helmets.

d. Garcia has received help from a family member to
test his invention.

6. Which one is true about Garcia’s invention?

a. Garcia's invention was originally meant to be used in
the military.

b. Garcia's invention was developed by his father.
c. Garcia first started working on his invention in 2013.

d. Thanksto his invention, Garcia has got an opportunity
that could be useful for further research.



